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C g2- yq K+
D 32— Mgz+

Q:64
Topic Name:Chemistry-Section A

ItemCode:101434
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Question:

* [Au(CN),]~ 21 [Zn(CN),(OH),]>~



? [Au(CN),]~ 24 [Zn(OH), ]2~
© [Au(CN),]~ 24 [Zn(CN),]2~

P [Au(CN), P~ 2t [Zn(CN)G]* -
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Topic Name:Chemistry-Section A

ItemCode:101435
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Question:
A0
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Topic Name:Chemistry-Section A

ItemCode:101436
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Question:

A Be2+

B Mg2+
C Ca2+

D G2+
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Topic Name:Chemistry-Section A

ItemCode:101437
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Question:

A [Ag(NH,),ICl,
® [Ag(Ch,(NH;),]
C [Ag(NH,),]CI

D [Ag(NH,)CI|CI
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Topic Name:Chemistry-Section A

ItemCode:101438
RRay (IV) 21 GUEL sy 23U d21e O, Al 2unarnizl] del deeiul s34 25 [Qaud w0z © 9

Question:

A RdiE ulBll s evell wriE 321 Adl.



P dasin M srell e 528l 24 d s 2585l az]E ad 9.

€ A s FAsAA vl waie 529 21 Restirsal adly adal.

DA 232 2 BesaAsl 2 oA il ad .

Q:69
Topic Name:Chemistry-Section A

TtemCode:101439
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Question:
A Ml‘l3 +

B Fe3+
€ T3+

D Ct3+
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ItemCode:101440
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Topic Name:Chemistry-Section A

ItemCode:101441
[Setict Al HeS s 2R AL uban o dlued 208 O, HleL w1kl vz 2ellsel wie $8 veald Al

Y HHU D ]

Question:
A quiiavil

B Qe wslBswel

C g0 [FigA

D Geefyian
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Topic Name:Chemistry-Section A

ItemCode: 101442
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Topic Name:Chemistry-Section A

TtemCode:101443
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CH,
CH,

Question:

CHj
% ' H®
C=CH,+H-C-CH; —> {luer
I
CHj

A CHs, , CHj
>CH-CH,-CH,-CH{
3 CH,

B CHj

CH3 \ |
C-CH,—C—CH,
CH3 5 | |

H CH,

,CHs

CH3—CH - CH—CH
o CH,
CH; CHj



D CH-CHj,
I |
CH3 = C. 7 C = CHB
I |
CH;CHj
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Topic Name:Chemistry-Section A

ItemCode:101444
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Topic Name:Chemistry-Section A

ItemCode:101445
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Topic Name:Chemistry-Section A

ItemCode:101446
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OH
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- (1) NaOH
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OH
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Topic Name: Chemistry-Section A

ItemCode:101447
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CH COOH
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Question:

A CH,

, CH,COOH



, CH,COCH,
OH
¢ OH
, CH,COCH,
D OH
OH
, CH,COCHj,
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Topic Name:Chemistry-Section A
ItemCode:101448

R—C—NH, A2 el 20 KOH 8 UL s2ctl o Alusy adls RNH, 2408 8. ulsurml wenydl
O
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Question:

* R—C—NH-Br
o)

B R—NH-Br

¢ R-N=C=0

P R-C-—NBr,
o
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Topic Name:Chemistry-Section A

ItemCode:101449
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A
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ItemCode:101450
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Question:
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D
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Topic Name: Chemistry-Section B

ItemCode:101451
CHN,O, AL 681 g Ui N el vl x x 1021 9. dl x o Ye ®.
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Question:
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Topic Name:Chemistry-Section B

ItemCode:101452
43.1 g cm 3 Gstdll Al 8t NaCl 4i Na® 2 Cl1— 24t o2 2id’ x10~10m 9.

(sl yulls)

(2UNd : N, =6.02% 102 mol 1)
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Topic Name:Chemistry-Section B

ItemCode:101453
ustawAl el diodl agadons § svl Guaion (@M wzHg) (Li) A dsdl 41 2taz+isl 2ua-dlszel sz

U ALY dxx107 8 m®. dlxy 8. (sl yells)
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Topic Name:Chemistry-Section B

ItemCode:101454
298 K Yz 4Fe(s) +30,(g) — 2Fe,0,(s) ML W2 wuullid @il 3251 —550 J/K 9.

gL A K uz M dgad 2ael 7 [2uld; AHr = —165 k] mol ~ 1]
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H,S0, = 1 L svélls gieet 0.02 m mol H,SO, 4RI 9. 24t greeruisll 50% A [AzilAd well «d e

SEUUT L gletl (A) cee™i 2418 9. glaeL (A) 1 H,S0, <L0.01 m mol GHetmi 249 8. dl 2i[dx
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ItemCode: 101456
27°C 2 1 atm Eell@L ¥z N,O, 1 NO, Ul 50% [dtler-t ui u[Rld Ysat Glad 33512 (AG?) 2
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[2Ud : R=831 J/K mol, log 1.33=0.1239.]
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ItemCode:101457
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2 3 - i
Fe*t 5 Fe” "+ e Epd+/pe2t= 077 V

o) ) S E =054y

Io/1”

298 K UR, 1M Ui 2eixieq ulEAL (2uvad ulEay) wie wuilBid dasgls WeRud x x 1072V 8. dix
Yy 9. (sl yeuls)

Question:
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Topic Name:Chemistry-Section B

ItemCode: 101458
A AR uE e,

V1A +7v2B = v3 C+v,D
seil vy, 0y, 03 2 vy 2L YRUS B. (Le. 1, 2,3, 4.....)

10 As=SlAL 2id1e i C Al Aigel 10 mmol dm 3 W&l 20 mmol dm =3 UL 35R AM . D Al €34
Yyl Aol L B Al 24834 ULAL G401 531 1.5 281U ©, o A ll A£24 ULl A2 sl el ©. wibis <ld

D Al £33 %al-l 920 9 mmol dm—3 s—1 20adiml 2l dall ubul 921 mmol
dm 3s 1
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Topic Name:Chemistry-Section B

ItemCode:101459
d-d #sild W2 sd [Cu(H,0),2* 2 600 nm U512l dAzorded 2t 53 dlwsl [CuH,0) ]2
Uiz 24p5a5l4 525 At [Foisy A Glade 4o X 1072 T o4ef] 3L, [A5-L YEULS HL 6rt
2UGBL-s 205 531.]

(AME : h=6.63x10"34 Js 244 ¢=3.08 x 10® ms~1)
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Topic Name:Chemistry-Section B

ItemCode:101460
5 g Ure-1-8e (CH ) U3 2Yel el uetl Hi2 el amel v %10~2 grams 9.

(Br Al 4RH1ee{l4 € =80 g/mol)

Question:



